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8_AF_BB_E7_90_86_E8_c77_114134.htm Israeli researchers said

they had identified a naturally produced compound that may explain

why only some smokers get lung cancer.Researchers found that

smokers with low levels of the enzyme were five to 10 times more

likely to develop lung cancer than smokers with the highest

levels.The enzyme fixes damage done to DNA by smoking and other

environmental stresses and is one of a large group of repair

compounds in the body.Writing in the Journal of the National

Cancer Institute, Zvi Livneh and his colleagues said 40 per cent of the

68 lung cancer patients they tested had low levels of enzyme activity,

in contrast to 4 per cent of a healthy group of 68

people.Non-smokers with the lowest levels of enzyme also had a

higher risk of lung cancer, although their overall risk of cancer was

much lower than that of the smokers.Lung cancer is by far the biggest

cancer killer in the world, killing a million people every year

worldwide.Smoking is also a major cause of heart disease and stroke.

The researchers said the findings needed to be confirmed in larger

studies but they may lead to the development of a blood test that

smokers could take to determine their personal risk. 209来源

：www.examda.com 1. What is Israeli researchers’ discovery? A. A

naturally produced compound B. The possible reason for smokers to

get lung cancer C. A kind of new enzyme D. How lung cancer

developed2. According to the author, what is the function of the



enzyme? A. Repairing any damage. B. Damage done to DNA.C.

Causing environmental stresses. D. Repairing compounds in the

body 3. How many people have been tested on levels of enzyme

activity?A. five to 10 times more B. 40 per centC. 68 D. 1364. The test

also show that non-smokersA. had the lowest levels of enzyme B.

had a higher risk of lung cancerC. had the risk of cancer as well D.

did not have the risk of cancer5. Which of the following is NOT

true?A. Lung cancer is the biggest killer in the world. B. Smoking

may cause heart disease and strokeC. The findings of Israeli

researchers have to be confirmed yet. D. Smokers could take blood

test to determine their personal risk 100Test 下载频道开通，各类
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